fn)
oo

wrE AR HEA el S A EAlQ,

53 37
1) — 2) —
(1) 100 @) 100

D (1)0.53  (2) 0.37 @ (1) 0.503  (2) 0.307
® (1) 0.053 (2) 0.037 @ (1)53 (2) 37

® (1)50.3 (2)30.7



(2) 60.208

(1) 38.064

o
%A



3.

Ua S 29 24 A9 A7 7 2 A2 o= A

D 35.249

@ 5.063

@ 0.593

® 0.229



Yk,

?:}

3.125 Heho1 2 5[]




5. Ao AR s=A7E 3, Ao A A7 4, 0.1 9 A 22472, 0.01
O] 22| =27} 8 Q1 5 2AA L.

D R
=%



6. o351 oE AL oL AJY7R?
@ 10 9 io Ayt @ 0.1 9] 10 HRYY T}
1
]' [e]
@ 0.01 9] 1000 HJ Yt} @ 100 9 100 Ayt

1
©) o] oy},
1000 1000 © H



Tlo

ol

P
lo

rl

< dol7h 7H 1 ARE AEdr V28 & A
()

Yt

@ 0.005km © 5005 cm

© 55m ® 100.5cm

® ©-e-6a9 @ ©-e-0-0 ® ©-6-0-©
@ ©-0-6-09 ® 6-0-0-e



8.

e 4= SollA 6.04 Bt 231, 6.16 Hot 2F2 = BF
TIHA L.

6.1,6.12,6.09, 6.21 , 6.02

M






10. thee ol 48 Wokn QA FohAlL.

38] 47l A 44 5 2] Sy
58] 1 o] Zele] Sk 1 gyt

A% A A SAsk 24 A A2 S 2w

ol 6 YU e
ok A B Ahele] Sapet Ao 2bel o] Sake] gol o
Uk,

D L
=%



